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Questions

Which of the following processes helps in the formation of rift valley?

When it is 6.00 AM on 0° meridian, at the same time what time would be there in Pakistan?

The place on the same meridian must have the same:

Which of the following latitudes is the longest?

Which of the following rocks is different forms the remaining three on the basis of it mode of
origin?

Which of the following countries is closes in size to Sri Lanka:

Brachiopod fossils have the same body plan as which of the following organisms:

The Devonian Period was called:

Which of the following elements is a chemical constituent of sand particles?

Which of the following element sis a chemical constituent of sand particles?
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. Seismic <br>
. Faulting <br>
. Folding <br>
. Volcanism <br>

. 6.30 AM

9.30 AM<br>

. 11.00 AM <br>
. 5.30 AM<br>

. Length of Summer <br>
. Latitude <br>

. Length of winter <br>

. Solar time <br>

23°N<br>
66°N

0°

80°N

Limestone <br>
Sandstone <br>
Shale <br>
Marble <br>

Qatar <br>
Rwanda <br>
Iceland <br>
Laos <br>

Squid <br>

Fish <br>

Clam <br>

Earth worm <br>

The age of oceans <br>
The age of fishes <br>
The age of dinosaurs <br>
The age of corals <br>

Carbon <br>
Iron <br>
Sodium <br>
Silicon <br>

Carbon <br>
Iron <br>
Sodium <br>
Silicon <br>



